

ลิขสิทธิ์มหาวิทยาลัยเชียงใหม่ Copyright<sup>©</sup> by Chiang Mai University All rights reserved

**Table 11:** Income distribution in Thailand divides in 19 groups.

Income	N	The amount of people		
0	0 0			
1	3	3		
2	4	8		
3	4	12		
4	3	12		
5	491819	20		
6	3 18			
7/ 5	2	14		
8	2	16		
9	3	27		
10	2	20		
20	18	360		
30	14	420		
40	9	360		
50	9	450		
60	Q 4 600	240		
70	4111	280		
80	4	320		
90	40000	360		
100	911149110	400		
opyrigh	Total	3,337		
	Average people	33.37		

Source: World Bank

• Average people = 
$$\frac{Total\ of\ people}{100}$$
 = 33.37

• At 33.37 people, income per capita = 
$$\frac{\text{Average Income}}{\text{Average}} = 487.80$$

- GDP per capita = 5,901.4 USD per year from TRADING ECONOMICS
- Currency exchange is 33.1 Baht = 1 Dollar

- o Exchange to Thai currency
  - Average Income =  $\frac{\text{GDP Percapita}}{\text{Currency exchange}} = 195,336 \text{ Baht per year}$ = 16,278.03 Baht per Month
- Poverty line of Thailand in 2015 = 2,644 Baht per month from National Statistical Office.

**Table 12:** Income per month of Thai's people divide in 19 groups.

	-1010	. 9		
Income	Income/Month	N	$\sum$ N	
1	488	3	3	
2	976	4	7	
3	1,463	4	11	
4	1,951	3	14	
5	2,439	4	18	
6	2,927	3	21	
7	3,415	2	23	
8	3,902	2	25	
9	4,390	3	28	
10	4,878	2	30	
20	9,756	18	48	
30	14,634	14	62	
40	19,512	9	71	
50	24,390	ng Mai l	80	
60	29,268	r é s e	84	
70	34,146	4	88	
80	39,024	4	92	
90	43,902	4	96	
100	48,780	4	100	
	Total	100		

Source: Calculation

- Income per month = income per capita  $\times$  Income
  - Thailand's Population in 2016
- = 65,729,098 persons
- Thailand has poor people = 18 percent (People from income group 1 to 5 who have income below poverty line of Thailand.)
- The amount of poor people in Thailand
  - = Thailand's Population × percent of poor people in Thailand
  - $= 65,729,098 \times 18 = 11,831,238 \text{ persons}$

Table 13: The budget to help poor people in Thailand get out from poverty.

Income	Income/Month	Add money per	Persons	Money per
		month		month
1	488	2,156	1,971,873	4,251,744,152
2	976	1,668	2,629,164	4,386,474,789
3	1,463	1,181	2,629,164	3,103,957,376
4	1,951	693	1,971,873	1,366,079,972
5	2,439	205	2,629,164	538,922,549
	N. S.	Total	11,831,238	13,647,178,838

Source: Calculation

Government has to prepare the budget to help all of them get out from poverty about 11,831,238 baht per month or 163,766 million baht per year.

Copyright<sup>©</sup> by Chiang Mai University

All rights reserved

## **CURRICULUM VITAE**

Author's Name Ms. Mavika Thonglue

**Date/Year of Birth** 3<sup>rd</sup> July 1993

Place of Birth Samut Prakan Province, Thailand

**Education** 2015 Bachelor of Economic

Chiang Mai University, Chiang Mai,

Thailand

**Experience** 2017 The Thailand Research Fund (TRF)

Bangkok, Thailand

2016 Central Laboratory (Thailand) Co.,Ltd.,

Bangkok, Thailand

2015 Government Saving Bank,

Branch lumlukka klong 2 (Internship)

Pathum Thani, Thailand



ริ่มหาวิทยาลัยเชียงใหม่ nt<sup>©</sup> by Chiang Mai University rights reserved